International Relations Office
Mobility

Final Report on your Study Exchange at the University of Lucerne

Please write the report (max. 2 pages) in German or English and in complete sentences (no keywords).
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Mobility Program

SEMP (Erasmus inside Europe)

Home university

Czech University of Lifesciences

Semester

Spring term 2016

Field of study

Economics, Master

Name and E-Mail (optional)

General impression
Please describe your stay in 4-5
sentences

| have really enjoyed my stay in Switzerland, it is a beautiful country.

Entry/ arrival in Switzerland
Immigration formalities, visa

September 2015

Searching for rooms/ accommo-
dation
Experiences and useful addresses

AirBnb, Comparis.ch

Public transportation
Train, bus, accessibility of university
buildings

www.sbb.ch,

Prearrangements
Registration for courses, language
tests, academic records

Information on the university
Location, size, infrastructure

Really good location, directly in the city center. Nice place

German course at the university
"German Short Course* visited?
Content of course, use?

No

Studying at the university
Content of lectures, credits,
assessments

Interesting lectures, multicultural, high quality of courses and professors

Assistance at the university
Mobility Coordinator, International
Relations Office, student advisors,
mentors, contact with other students

Always really helpful

Budgeting
Living costs, study material,
money transfer

Really expensive to live there, the grant should be more.

Living/ leisure
Meeting places, sports, culture

Best sport for university students, many opportunities of sport courses.

Comparison
What is better/ worse at the Univer-
sity of Lucerne as compared to your

home university?

Better — higher level of education,
Worse — friends ©
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Reasons

Why did you choose to complete an
exchange semester at the Universi-
ty of Lucerne?

| like Switzerland nature and culture, improve German.

Duration
Looking back, was the duration of
your stay here:

0 too short




